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SUMMATIVE ASSESSMENT -1, 2015-16
SCIENCE

Class - X

Time Allowed : 3 hours Maximum Marks : 90

Czeneral Instractons ¢

The question paper comprises of two Sections, A and B. You are to attempt both the sections,
All questions are compulsory

All questions of Section-A and all questions of Section-B are b be altempted separately,
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in one
word or in one sentence

Question numbers 4 1o 6 in Seclions-A are two marks questions. These are to be answered in
about 30 words sach,

6. Qusstion numbers 7 to 18 in Section-A are three marks questions. These are o be answered in
about 50 words each

Cuestion numbers 19 1o 24 In SecHon-A are fve marks questions. These are o be answered in
about 70 words each.

5. Question numbers 25 (o 33 in Section-B are multiple choice guestions based on practicai skills.

Each questiom s a one mark question, You are to select one most appropriale response out of the
four provided to yow

9. Question numbers 34 (o 36 in Section-B are questions based on practical skills, Each question is of
Lwor marks.
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SECTION-A

List two body tunctions that will be affected if cerebellum gets damaged, oy Fﬂt{
Diraw a diagram to show uniform magnetic Geld in a given region @
Name the part of a biogas plant where reactions take place in the absence of oxygen. :_’11 ek

Name the acid produced in our stomach. What happens if there is an excess of acid in the stomach?
How can it be cured?

Comsider the ﬁﬂ]nwing chemical reachon :

X+ Waler — Slaked lime
{a)  Wrte the chemical name of 'X' and the type of reaction that necurs.
(b)  Wnie chemical equation of the reaction,
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@ What s Lymph? Write its main function.  £%° ceh U}

? Consider the following reaction

PB(NO3)ags) —— 2 PBO(g# NOzgg+ Oagy
fi) Mame the gases produced in the above reaction.
fin) Balance the above chemical equation,

fwi}  Name the type of chemical reaction.
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®  Whrite the chemical name and formula of Bleaching powder. How is it prepared? Wiite ihe cherical
equalion and state any two uses of bleaching powder.

E Give reason for the [ollowing ;

fa)  lonic compounds are usually hard, & LL;«E:L!J}A

)  Sodium chlaride has a high melting point, WP 3

@  Non-metals do not displace hydrogen from dilute acids. § [}‘I:}ii:’ C
@ Mame the substance oxidised and the substance reduced.

tal 3MnO; 1+ 4A1 3 3Mn + 241,04
ib)  Fey05+3C0 - 2Fe + 300,
e} 50; 1 2H53 354+ 2H,0

‘,,\TL %“M“'{—
@ fale quice does not contain any enzyme bul bile salts are important for digestion and adsorpten of

futs. State reason.
W
\% Why do plants appear to bend towards light? frasin S0 w T 5""1"’

I3 My three life processes which are essential for mamtaining hife and briefly explain the Fanucticodng

ol any one of thern

i3 Slate three laclors on which the heat produced by an electric current depends. How does i depend
on these factors 7 #3™

WI5)  In Faraday’s experiment if instead of moving the mapnet towards the coil we move the coll towards
the magnet. Will there be any induced current? justify your answer, Compare the two cases

¥ State Ohm's law. Draw a circoit diagram to verdfy this law indicating the positive and negative
termmals of the battery and the melers. Also show the direction of current in the circait
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Rawi was using caleulator to do some calculations. While doing so his calculator stopped working. He 3
kept the caloulalor near the window for some time, exposed to sunlight After some lime he could use
the calculator again. This friend Mohit who was using a battery operated calculator, watched him and
told ham that his calculator was better in the sense that he could mmediately recharge the ealcnlator

by charging battery but Ravi was not convinced. He explained to Mohit the advantages of solar
calculator and convinced him to adopt it.

[a) State the values exhibited by Ravi.

{b)  List the advantages of using a calculator driven by solar energy which convinced Mohit o
adopt it

15 Explain how hydroelectricity p:ﬁducad- 3

{fa) Name an ore of mercury and write its chemical formula. Wrke two steps along with the 5
equations of reactions for obtaining metal from this ore. I"'f] 54 gﬂ'l_ sy ][_},3.51 s

fB)  How carbon or coke acts as reducing agent to obtain metal from an oxide 7 Give a suitable
chemical equation of this reaction Lo illustrate il YO 2 (o2
FL

20 Write the electronic confliguration of magnesium (atomic no. 12) and oxygen (atomic no. 8) and 3
explain the formation of magnesium oxide by clectrons transfer of State the type: of bond formed.
Explam with reason two physical properties of compounds formed by this bondmg,

21 {a} Name the hormone which is secreted by the adrenal gland. Explain the function of this hormone 5
when we have to deal with scary situations. (1%

{b) What is reflex action?

22 f{a) Wil current flow more easily through a thin wire or a thick wire of the same material. When 5
connected o the same source. Why ? T
@ some electric lamps connected to a 220 volts electric supply lines are rated 20 W. How many
lamps can be connected in parallel with each other across the two wires of 220 volts lines, if the
maaamum allowable current is 54 7

i
%‘ {a}When the north pole of a magnet is moved towards a cofl connected with a galvanumeter, its 5
pomiter gets deflected lo one side. Explain this observation with reason. Name the phenomencon.

{bYWhat will happen to the deflection in galvanometer when the magnet is faken away from the coil ?

fc)lf the experiment is repeated with the magnet being moved towards the coil with great speed, state
the change that you would notice in the deflection in the galvanometer? Name and state the rule
which helps in predicting the direction of deflecton in each case.

24 Establish a relationship to determine the equivalent resistance R of a combinabion of three resistors 5
having resistances R'], R, and B, connected in series.

Caleulale the squivalent resistance of the combination of three resistors of 240 30 and 6 0 joined in
parallel,
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SECTION-B

5 Which method will you adopt to find the pH of a solution correctiy?

{a) Converting the solulion into vapour form and then expose pH pages o the vapomes
(B}  Pouring few drops of sohution om pH paper.
{c) By dropping pH paper in solutiom
(dy" By putting a drop of solution on the pH paper using a droppes. »
i% Four students A, B, C and D determine the pH of water, lemon juice and dil sodiurebisademrmbe soiuiom Thoy
recorded their observations and armanged them in descending order of pil wafess o (08w

Student | Solutions ; e
A water, lemon juice, sodium bicarbonate solution
(B wate r, sodium bicarbonate solution, lemon juice
(T} lemon juice, water, sodium bicarbonate solution
_I:l.'-.lil sodium bicarbonate solution, water, leman jaﬁe
| =k

The correct sequence is of the student ;

@ W B (B }m’ @ @ (D)
37  Certam propertes of a substance are given below -

{i It turns red litmus blue

{11} It ums blue litmos red +

(iif) It reacts with xinc and a gas evolved

{iv) It reacts with sodium carbonate to give brisk effervescence Mo, . | o 1
Which out of above properties are shown by dil HCL:

T Y

) () and (i) only ) (i and (i) only
(c) 1), (i) and (iv) only gy {jf}, {1ii) and (Tv) conly

/' ﬁl Shashank was asked o carry oul a displacement reaction which would show e following :

o i Formation of colourless solution
(it  Black deposits

The reactants he should vse ane -

{a)l  Fefs) and AlL{5Oq) lag) )  Al(s) and FeS0s (ag)
aer”  7mis) and CuSOy (ag) (d)  Fe(s) and ZnS0y fag)

Fagsdofe

;L



T

.

L

.E

a ey P
st G ;

43 Rohit observed the formation of a coaling when he added the salution of copper sulphate to the iron
nails. This deposition is of - 5

() Tron M~ Copper
(] Iron sulphide (d)  Sulphur

@ Total voltage across the series combination of resskors is: gl

{a)  Samwein every part of the circuit g
(B)  Sum of the vollage drop across each resistor
{c), [Inversely proportional to the resistance
)} None of these
|

:‘: 3 Two unequal resistances are connected in parallel by a student. Which of the following is true ?
e

(@)  Current is same is both

(b) , Current is larger in higher resistance
{;:}; Voltage-drop is same across both

(d)  Voltage drop is Tower in lower resistance.

g

P

%: The best results for the experiment *that light is necessary for photosynthesis', would be yielded by
using leaves from plant kept for over twenty four howrs

ﬁ:ﬁé In a pitch darkroom
(b} Inadarkroom with the table lamp switched on

(c),, Ouiside in the garden
,_Lej(t Mone of the above

__Eii In the experiment to show that ‘CO; is released during respiration,” the KOH & taken in a small test
tube because it :
(a) absorbs O,

absorbs modstoee

(c)  absorbs OO,
(d)  None of the above
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22 Makch B chemical reactions piven m columm A with column B,

=
% b LA
A et WP | B I
fa)  F=rous sulphate crysiel * i) Combination reaction |
) Quicklime + water,~ © | 1I) Decomposition reaction |
{c) Copper sulphate soluaton + {Tﬂ] Double -:Eﬂyhcmm?é
¥rom madl N / reachon
{d) Sodium sulphate solution~ | {IV)  Displacemnent reaction
Sarium chdorade solution
iy i b h'-'Lll'
Fl
¢ (o
| @ Calcudade the least count of an ammeder, which has 20 dhﬁmmmﬁﬁm?ﬁm@?ﬁm}m
its end seate. (3) ¢ o

i1) '!ﬂpntazhlgledmpufsﬁnmiﬁafpeﬂmiwaﬂnirwﬂhwﬂz@
fu)  Tover the leaf peel with cover ship. (5

{iii} Fo putasngle drop of shycerme on jead peel.

fiv} Ltlsﬁveﬂﬁ-slu:leumhmqt®

But the skeps are nol in order. What should be the correct sequence?
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